		Date:	Da		Date:	6/2/		Date:
		žu:	Sign:		y Sign:	The state of the s		Sign:
&D team	rector/E&	Approved by Director/E&D team	Ap		Approved by QS team	2 4	Approved by project manager	Approved by
				c			Remarks: works completed.	Remarks: wo
23,100.00	Total							
750.00	75.00	MIS102	No's	10.00	h union	jointing with union		
3,250.00	13.00	MIS101	Rmt	250.00	Laying of hdpe pipes for curing work		HDPE PIPE laying	8.
3,000.00	3,000.00	PB128	No	1.00	bath room connections of oht water lines		labour quarters	7.
1,500.00	750.00	MIS131	. No's	2.00	nnections	loft tank connections	site office	6.
800.00	0.80	MIS130	lits	1,000.00	ntax tanks	ork fixing of syntax tanks	RO plant work	5.
00 1,800.00	1,800.00	PB1 14	No	1.00		4th floor	_	
0 1,600.00	1,600.00	PB1 14	No	1.00		3rd floor	-	
1,400.00	1,400.00	PB) 14	No	1.00		2ndfloor		
0 1,200.00	1,200.00	PB1 14	No	1.00		1st floor	-	
00 1,000.00	1,000.00	PB113	No	1.00	lift pit pumps (goods lift and west side connecting pump for curing in lift pit basement floor	ps (goods lift and west side connecting	lift pit pum	
2,600.00	1,300.00	MIS126	No's	2.00	openwellSubmersible pumps fitting we Cellor east and west side openwellSubmersible pumps fitting	bmersible pumps fitting wo Cellor east	openwellSul	ļω
2,600.00	1,300.00	MIS141	No's	2.00	submersiblepump removing and refixing work 2times	submersiblepump Refixing submersibl	submersible	2
00.000	16.00	MIS134	Rft	100.00	4" Eco drain lines work for waste water		Eco drain lines	1.
V2							no	No.
Amount	Rate	Rate ID	Units	Qty		Details of work	Unit/floor	SI
lo	d? No	GST bill required?	GS		Contractor bill no.			WO date
ľo	No	WO issued?	W	10-02-2024	Work done to date			WO no.
	•	M-codex bill ID.	M-	10-11-2023	Work done from date	site		Block no
3-02-2024	1	Dt. site bills reg.		plumbing work	Nature of work	GVI		Project/site
169		Sl. No. site bills reg.	SI.	Md.Nadcem	Name of contractor	cresentia labs pvt ltd		Company
					Anx B - Work Completion Report			

Notes: 1 This sheet replaces installation report and advice for credit to contractors: 2 This word form must be typed: 3. Use this form even if work order is not issued: 4. Attach measurement and estimate sheets only if required i.e., details cannot be entered above. 5. For bill amount greater than 10k QS manager and directors approval is required: 6. For bill amount less than 10k any QS team member may sign and in place of director sign of respective E&D member to be taken. 7. Director include: — Scham, Annad Metha (for GHT + OME), Section (for Vivepolus), B. manad Kumar (for NOH + NRK) 8. Entry of rate ID is mandatory. 9. This sheet must be sent within 2 working days of work completion (with or without contractors bill). 10. Contractors to send seamed copy of bill to site and QS by email 11. Contractors must submit original bills at HO (can be

,;

Company Name Crecenta Labs P4 Ltd Project Project Crecenta Labs P4 Ltd Crecenta								
Crecentia Labs P4 Ltd Crecentia Ltd Cree					nly:	1-		T
Creenia Libs Pet Lid								
Crecenia Labs P4 Lid	23,100.00	Total						
Crecenia Labs Pvt Ltd Crocenia Labs Pvt Ltd Croc	23,100.00					G.		T
Crecentia Labis Pvt Ltd		750.00	75.00	No's	10.00	iointing with union		T
Crecentia Labs Pvt Ltd Approved GV ONE GV ONE Plumbing work Md. Nadeem Md. Nadeem SobhanBabu. SobhanBabu. Job G.03.2024 Item Head Item Description Quantity Item Head Item Description		3,250.00	13.00	Rmt	250.00	Laying of hdpe pipes for curing work		
Crecenia Labs Pvt Ltd		3,000.00	3,000.00	No	1.00	bath room connections of oht water lines		
Crecentia Libis Pyt Ltd Crecentia Libis		1,500.00	750.00	No's	2.00	loft tank connections		
Approved Approved		800.00	0.80	lits	1,000.00	fixing of syntax tanks		
Crecentia Labs Pvt Ltd		1,800.00	1,800.00	No	1.00	4th floor		\neg
Crecenia Labs Pvt Ltd Approved GV ONE Crecenia Labs Pvt Ltd Approved GV ONE Plumbing work Md. Nadeem Md. Nadeem SobhanBabu. SobhanBabu. Md. Nadeem Md. Nadeem SobhanBabu. Go.3.2024 Md. Nadeem Md. Nadeem Item Head Item Description Quantity Units Rate Amount Ss A" Eco drain lines work for waste water 100.00 Rft 16.00 1.600.00 ump Refixing work submersiblepump removing and refixing work 2times 2.00 No's 1.300.00 2.600.00 goods lift and west side lift) connecting pump for curing in lift pit basement floor 1.00 No 1.000.00 1.200.00 2ndfloor 2ndfloor 1.400.00 1.400.00 1.400.00 1.400.00		1,600.00	1,600.00	No	1.00	3rd floor		
Approved Approved		1,400.00	1,400.00	No	1.00	2ndfloor		
Crecentia Labs Pvt L1d Approved GV ONE GV ONE Plumbing work 9 Md. Nadeem 9 SobhanBabu. 9 06.03.2024 9 Item Head 1 Item Head 4" Eco drain lines work for waste water 200 Impresible pumps fitting work 2.00 Ses 4" Eco drain lines work for waste water 10.00 Ses 4" Eco drain lines work for waste water 2.00 SobhanBabu. 0.00 10.00 0.00 10.00 0.00 10.00 0.00 10.00 0.00 200 0.00 1.000 0.00 1.000 0.00 1.000 1.000 2.00 0.00 1.000 1.000 1.000 1.000		1,200.00	1,200.00	No	1.00	1st floor		
Crecentia Labs Pvt Ltd Approved GV ONE GV ONE Plumbing work Hod. Nadeem SobhanBabu. SobhanBabu. 106.03.2024 Units Item Head Item Description Quantity Item Head 4" Eco drain lines work for waste water 100.00 submersible pumps fitting work 2.00 No's Line String Cellor east and west side openwellSubmersible pumps fitting work 2.00 No's		1,000.00	1,000.00	No	1.00	connecting pump for curing in lift pit basement floor		
Crecentia Labs Pvt Ltd Approved GV ONE GV ONE Plumbing work Md. Nadeem Md. Nadeem SobhanBabu. SobhanBabu. 06.03.2024 Item Head Item Description Item Head 4" Eco drain lines work for waste water 100.00 Submersiblepump removing and refixing work 2times 2.00 No's 1.300.00 2.600.00		2,600.00	1,300.00	No's	2.00			
Crecentia Labs Pvt Ltd Approved GV ONE GV ONE Plumbing work House of the proved Md. Nadeem Md. Nadeem SobhanBabu. SobhanBabu. 106.03.2024 Hem Description 11cm Head Quantity Units Rate Amount 8 4" Eco drain lines work for waste water 100.00 Rft 16.00 1.600.00		2,600.00	1,300.00	No's	2.00			
Crecentia Labs Pvt Ltd Approved GV ONE Crecentia Labs Pvt Ltd Approved Plumbing work Wd. Nadeem Wd. Nadeem SobhanBabu. SobhanBabu. Wd. Nadeem Bob.3.2024 Wd. Nadeem Wd. Nadeem SobhanBabu. Wd. Nadeem Wd. Nadeem Jenn Babu. Wd. Nadeem Wd. Nadeem Wd. Nadeem Wd. Nadeem Wd. Nadeem SobhanBabu. Wd. Nadeem Wd. Nadeem Wd. Nadeem Wd. Nadeem Wd. Nadeem Wd. Nadeem Wd. Nadeem Wd. Nadeem SobhanBabu. Wd. Nadeem Wd. Nadeem Wd. Nadeem Wd. Nadeem Wd. Nadeem Wd. Nadeem Wd. Nadeem Wd. Nadeem Wd. Nadeem Wd. Nadeem Wd. Nadeem <td></td> <td>1,600.00</td> <td>16.00</td> <td>Rft</td> <td>100.00</td> <td>4" Eco drain lines work for waste water</td> <td>1 Eco drain lines</td> <td></td>		1,600.00	16.00	Rft	100.00	4" Eco drain lines work for waste water	1 Eco drain lines	
Crecentia Labs Pvt Ltd Approved GV ONE Crecentia Labs Pvt Ltd Approved Plumbing work Wd. Nadeem Wd. Nadeem SobhanBabu. SobhanBabu. Wd. Nadeem BobhanBabu. Wd. Nadeem Wd. Nadeem SobhanBabu. Wd. Nadeem Wd. Nadeem BobhanBabu. Wd. Nadeem Wd. Nadeem Wd. Nadeem Wd. Nadeem Wd. Nadeem SobhanBabu. Wd. Nadeem Wd. Nadeem Wd. Nadeem Wd. Nadeem Wd. Nadeem SobhanBabu. Wd. Nadeem Wd. Nadeem Wd. Nadeem Wd. Nadeem Wd. Nadeem Wd. Nadeem Wd. Nadeem Wd. Nadeem Wd. Nadeem Wd. Nadeem Wd. Nadeem </td <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>								
Crecentia Labs Pvt Ltd	Item Head Total	-	Rate	Units	Quantity	Item Description		(0)
Crecentia Labs Pvt Ltd GV ONE Plumbing work Md. Nadeem SobhanBabu.						06.03.2024	Date:	T
Crecentia Labs Pvt Ltd						SobhanBabu.	Prepared By	Pr
Crecentia Labs Pvt Ltd GV ONE Plumbing work						Md. Nadeem	Name of the Contractor	Z
Crecentia Labs Pvt Ltd GV ONE						Plumbing work	Work Description:	W
Crecentia Labs Pvt Ltd	16					GV ONE	Project:	P
						Crecentia Labs Pvt Ltd	Company Name:	င္ပ
		Approved					ESTIMATE SHEET	ES

_	×	, _	1	6	ر. ا					4	Ç.	2	_	SNo		Date:	Preps	Name	Work	Project:	Com	MEA
	unte the raing	IIIDDE DIDE laving	labour quarters	site office	RO plant work					lift pit pumps (goods lift and west side lift)	openwellSubmersible pumps fitting work	submersiblepump Refixing	Eco drain lines	Item Head		e:	Prepared By	Name of the Contractor	Work Description:	ct:	Company Name:	MEASUREMENT SHEET
Journa with milon	Ed) his or angle prices and a	I aving of hone pines for curing work	bath room connections of oht water lines	loft tank connections	fixing of syntax tanks	4th floor	3rd floor	2ndfloor	1st floor	lift pit pumps (goods lift and west side lift) connecting pump for curing in lift pit basement floor	Cellor east and west side openwellSubmersible pumps fitting work	submersiblepump removing and refixing work 2times	4" Eco drain lines work for waste water	Item Description		06.03.2024	SobhanBabu.	Md. Nadeem	Plumbing work	GV ONE	Crecentia Labs Pxt Ltd	
	10.00	250.00	1.00	1.00	500.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	100.00	Length	^							
	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	Width	В							
	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	Height	С							Approved
	1.00	1.00	1.00	1.00	2.00	1.00	1.00	1.00	1.00	1.00	1.00	2.00	1.00	Nes.	D							
	10.00	250.00			1,00								10	Quantity	E=AxBxCxD							
	No's	mt	No			No.				Г		1	\top	Units	F	1						
														Item Head Total	G=Sum of E							

Allowance of Labour Charges BIPIN DAS. Secundrabad.

Date: 06.03.2024

In favor of:

Crecentia Labs Pvt Ltd.

Project / Site: GV ONE

Location:

Location: Turkapally Village.

Type of Work: Plumbing work.

Towards:

Allowance for Labour Charges.

S No.	Description	Amount
1.	Brief description of work done: Towards site plumbing	- Amount
	work.	Rs: 9,240 /-
	Total Amount = $Rs:23,100.00$	10. 5,2 10 /
	Work done from date 05.10.2023 to date 19.02.2024	

Amount in words:-Nine thousand two hundred and fourty rupees only

Sign:		
·		

Allowance of Equipment Charges Md.Nadcem.

Md.Nadeem. Secundrabad.

Date: 06.03.2024

In favor of:

Crecentia Labs Pvt Ltd.

Project / Site:

GV ONE

Location:

Turkapally Village.

Type of Work:

Plumbing work.

Towards:

Allowance for Equipment Charges.

S No.	Description	Amount
1.	Brief description of work done: Towards site plumbing	
	work.	Rs: 9,240 /-
	Total Amount = Rs:23,100.00	
	Work done from date 05.10.2023 to date 19.02.2024	

Amount in words:-Nine thousand two hundred and fourty rupees only

· C ·			
Sign:			

Allowance for Consumables Md.Naddem. Secundrabad.

Date: 06-03-2024

In favor of:

Crescetia Labs Pvt Ltd.

Project / Site:

GV ONE

Location:

Genome Valley, Turkapally Plumbing work.

Type of Work:

Towards:

Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Towards site	Rs: 4,620 /-
	plumbing work. Total Amount = Rs:23,100.00	
	Work done from date 05.10.2023 to date 19.02.2024	

Amount in words-:Four thousand six hundred and twenty Rupees only.

C'	
Sign:	
DIE.	